Intro to College Math: Chapter 3.5
Equations of a Line
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* Parallel Lines: have the same slope, but different y-intercepts.
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* Perpendicular Lines: their slopes are flipped and opposite sign.
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1. Give the equation of the line with the given slope and y-intercept.
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3. Find the slope and y-intercept for the following equations by writing it in the form y= mx + b. Then,
graph the equation.  _ 4 Y ¥ %_: \
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* On the right side of the equation, make
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The number by itself is the y-intercept.
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To Graph:

* Place a point for the y-intercept on the y
axis.

* Then using your slope, go up (if positive)
or down (if negative) the top number on
the fraction. And go right the bottom
number of the fraction.

4. Find the slope and y-intercept for the following equations by writing it in the form y= mx + b. Then,
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5. For the following problem, the slope and one point on a line is given. Use the point-slope form to
find the equation of that line. (Write your answer in slope-intercept form.)
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6. For the following problem, the slope and one point on a line is given. Use the point-slope form to
find the equation of that line. (Write your answer in slope-intercept form.)
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7. Find the equation of the line with x-intercept (2,0) and y-intercept (0,1).
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8. Find the equation of the line with x-intercept (-4,0) and y-intercept (0,-1).
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9. Line | is parallel to the graph of the equation 5x + 4y = -40 and contains the point (-5,3). Find the
equation for .
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10. Line | is perpendicular to the graph of the equation 2x + 5y = -10 and contains the point (-2,-1). Find
the equation for .
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